—MAARNE  FH 31 F£ 2 By

NER

1HhA®D EAXRE

CERS

(11 AICDE]

A 0~10m? 6(%%'5%?
B 11~20m? 6(%2'5%?
C 21~60m? 9(%;'5%'?
D 61~130m3 1(’3%%'&%?
e e | O
REHEN

BIRRE = BEARNE + T ENESEMx ERE [AXREY)DIET]

(BEArItEH)
11 BOTERASEN21IM> DRSS

BIRME = 890 + 212.71H
— CEKEE (CHEPuAH)  5,784M
JRFBHEAE DZEEIRT

(1) ERUmARDEE

FIYEPHIEE (LNGIRE) *!
LNGEII&@A Mg (BE3#HatE)

2A%S
MEER M
[1m3ICDE]
245.3868M
(227.21M)
243.2268M
(225.21M)
229.7268M
(212.71M)
227.7504MH
(210.88M)
222.3504M
(205.88M)

() RIFHERSFHEIENER]

( THIERC] NEASNET)

21 m=

5,356H

(&%)

1A%
e BB
[1m3ICDE]
243.6156M
(225.57M)
241.4556M4
(223.57M)
227.9556M
(211.07M)
225.9792M
(209.24M)
220.5792MH
(204.24M)

/I\A\\/\\’\\\\\HK\I\lR(\(INIlR

[(AXRiEtIDIET]

30F9HA~30411A | 3048HA~30%10AH

LPG (T'O/\>) FiI@mA i (ESHatE)

BT ERMME (LNGIE) ~°

%1 FHERUTEHE = LNGFEI8 A fMiig x 0.9273™° + LPGIg# A fi4& x0.0775**

gnR}E

%2 BEETRAUIMAR (L, RIS CUER
%3 [RRIDLNGHERL LB

X4 [RRIDLPGIBRKLEE(C, LPGMSLNGADERBEFREZ MK LIZED

(2)1m*dfz D DEAIREHEEDEE %

OFEFUIEZENRAEDETE

64,230/t (EERAMIAS) - 89,530M3/t  (BETIREUIAR) =

@1m Iz D DB EFREIBOEE CHERIRE)

A 25,300M/by

(BRUEIASZEE)%E) /100 x  0.082 *1

1 ZEEEA100 (C DS BRIEZ 1mdp/z D 0.082FFR%
%2 XA FRBBORF(INGEEM 2D LT L. TSRO INEEIM 2T DIETD

(3) 1M’ Bz D DEARISAEETEDILE (FEIA ./ BikE)

ER31528% | ER31E1AH
AELE(A) $H5245(B)
A20.75/m A22.39M/m

(4) TR REABOTRE (21m3/A) *(CHFS
TH31528% | FR31F1A%
ERRE (B)

RECERE | sone (a)
21m’ 5,784H

=#(A)-(B)

+1.64M/m

5,747H

=347
=

2 (—ils i)

=EER
(A) — (B)
+37H

% 21m’/BlE. REAOBEIE14HZ D TOFREEHEHESE
(A REEEE. PR1SEE~THR22EEDS HEFICLNDEELTNETD)

(2R#&Et > (CER) (1A% CERA)
64,230M/ 62,220M/+
63,310M/k 61,240M/
71,240M/b 70,110M/b

89,530M/k

[10ARiEMIERA]

UTZERHERS (KT (F 2669~ 118 D34 BEDF1I(E)

A25,300M/b  [100FKEEIHE T,

A20.75/m %2



